
Gymnase de Burier - 1M - Mathématiques Renf Corrigé

N.E. - Chapitre 1 : Premières notions

Série A Série B

Exercice 1. (1+1+1=3 pts)

A = {−2 ; 0 } A = {−3 ; 0 }

B = {−6 ; −5 ; −4 ; 4 ; 5 ; 6 } B = {−5 ; −4 ; −3 ; 3 ; 4 ; 5 }

C = ∅ C = ∅

Exercice 2. (diag.Venn : 1+1+1+1+1=5 pts)
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a) C ∩D = {−1 ; 0 ; 1 ; 2 } C ∩D = {−2 ;−1 ; 0 ; 1 }

b) C ∪D = {−4 ;−3 ;−2 ;−1 ; 0 ; 1 ; 2 ; 3 } C ∪D = {−4 ;−3 ;−2 ;−1 ; 0 ; 1 ; 2 ; 3 }

c) C \D = { 3 } C \D = { 2 ; 3 }

d) Z \ (C ∪D) = {... ;−6 ;−5 ; 4 ; 5 ; ...} Z \ (C ∪D) = {... ;−6 ;−5 ; 4 ; 5 ; ...}

Exercice 3. (3 pts)

f(x) =
x− 1

x2 − 9
f(x) =

x− 5

x2 − 4

x2 − 9 = 0 ⇒ (x+ 3)(x− 3) = 0 ⇒ x2 − 4 = 0 ⇒ (x+ 2)(x− 2) = 0 ⇒

⇒ {−3 ; 3 } /∈ ED ⇒ ED = R \ {−3 ; 3 } ⇒ {−2 ; 2 } /∈ ED ⇒ ED = R \ {−2 ; 2 }
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Exercice 4. (1.5+1+1+1+1.5=6 pts)
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a) Zg
∼= {−4 ;−1 ; 2 } Zg

∼= {−4 ;−1 ; 2 }

b) g(1) ∼= 2.5 g(1) ∼= −2.5

c) g(−3) ∼= −2.5 g(−3) ∼= 2.5

d) Im(g) = R Im(g) = R

e) g(x) = 2 ⇒ S ∼= {−4.5 ; 0 ; 1.5 } g(x) = 2 ⇒ S ∼= {−3.5 ;−2 ; 2.3 }

Exercice 5. (3 pts)

h : Z → N

∗

x 7→ |2x− 3|
h : Z → N

∗

x 7→ |2x− 1|
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